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PART C

42 =
+ cos2zx + 277

I

T
dy L ;
Solve E;% —y = zsinz + (1 + 22)e®
Using the method of variation of parameters solve
d? - :
3—;% + 4y = tan2z
Using the method of undetermined coefficients, solve
9y 123 4 4y =222 43¢

Solve z3—lp+3z2-d—22+:c
Solve the initial vaiue problem
g d2 it o
o .,4z¥+5y+2coshz_—0
given y = 0, 31_1 atz=0
; PARTD

Find the Laplace 'hansforms of ;

i) t2e~3tsin2t
£2: a"t-_cogﬂf e WETE

+ 8y = 65cos(log:c)

%

iij
Find the Laplace 'Dmnsform of the full-wavve mﬁﬁer
f(t)=Esinwt, 0<t< X

having peried %

(c)

{a)

o))

{c}

Find .
) Lle~tu(t-2)]
i) L{t?u(t - 3)]

Find the inverse Laplace Transform of

i) —hl
54(8+1)

i) cot™1(%)

Evaluate: L1 {-————"—Z} using convolution theorem.

(s%+a?)
Using Laplace Transforms solve

%+2-§¥—3y=sint

"'g‘iveny=0,§¥='0whent=0
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